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Long-Run Output and Productivity Growth
1. For the United States, explain why the amount of output that each worker can produce per hour has risen in the last half century. 

There are several reasons for this. First, the amount of capital per worker has increased. As the amount of capital per worker rises, workers will be able to produce a greater number of goods and services. Second, there have been increases in the quality of both labor and capital. As the skill level of workers rises and the quality of, for example, the equipment they use improves, workers will be able to produce more goods and services. And finally, there have been increases in technology during this period. 

Difficulty: M

Type: C
2. Define what is meant by capital and discuss the various types of capital. 

Capital is anything that is produced that is later used as an input to produce other goods and services. Physical capital would represent machinery and factories. Human capital would represent the knowledge and skills acquired by workers. Capital can also be private and public (e.g., highways). 

Difficulty: M

Type: D
3. An "ideal" economy would be represented by what type of situation? 

In an ideal economy, we would observe rapid growth of output per worker, low inflation, and low unemployment. 

Dificulty: E

Type: D
Recessions, Depressions, and Unemployment
4. In a simple economy, how can output increase?

There are a number of ways. Output can increase if there are more workers, more skills per worker, more machines, faster machines, or a longer work week.

Difficulty: E

Type: C


5. What is the technical definition of a recession?

It is a period in which real GDP declines for at least two consecutive quarters. It is marked by falling output and rising unemployment.

Difficulty: E

Type: D



6. How does the Bureau of Labor Statistics officially characterize an employed person?

It is anyone who is 16 years of age or older who is working for pay either for someone else as an employee or in his or her own business for one or more hours per week. It can also be someone who works without pay in a family run business at least 15 hours per week, or who has a job but has been temporarily absent, with or without pay.

Difficulty: E

Type: D



7. What is meant by the phrase "not in the labor force?" Give examples of why people might be in this state.

It means people over the age of fifteen who are not looking for work, either because they do not want a job or because they have given up looking. It might include retirees, full-time students, stay-at-home parents, individuals in institutions like prisons or mental hospitals or elderly parents.

Difficulty: E

Type: F




8. Explain how it might be possible for the unemployment rate to drop inspite of a severe recession.

When a recession becomes very severe and protracted many workers who may have responded in the BLS survey that they were looking for work may become discouraged and stop looking. If this happens they effectively drop out of the labor force. The only way to be officially counted as unemployed is if you are actively seeking employment. Therefore the unemployment rate drops.

Difficulty: M

Type: C



9. What is the official definition of an unemployed person?

It is anyone who is without work aged 16 or older who is available for work and has been actively seeking work in the last four weeks.

Difficulty: E

Type: D
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Table 7-1

10. Using Table 7.1 above, calculate the unemployment rate.

The total amount of people who are unemployed and looking for work are 400 + 200  + 100 = 700. The labor force equals this number plus the employed - 700 + 8000. The unemployment rate is equal to 700/8700 x 100% = 8.04%

Difficulty: E

Type: A
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Table 7.2

11. Using the Table 7.2 calculate the labor-force participation rate.

Labor-force participation rate = Labor force/Population = (45,000 + 5000)/70000 x 100% =  71.4%

Difficulty: E

Type: A



12. Using Table 7.2 calculate the unemployment rate and show your work.

Unemployment rate = Unemployed / (Employed + Unemployed) = 5000/(45000 + 5000) x 100% = 10%

Difficulty: E

Type: A



13. What might happen to the official unemployment rate if unemployment compensation were eliminated? Explain your answer.

The official unemployment rate may actually fall if unemployment compensation were eliminated. The reason is that unemployment compensation helps reduce the opportunity cost involved in looking for work. Workers may spend a little more time looking for work if they have some amount of income to rely on. However, if the worker is receiving no compensation the opportunity cost of continuing to search is very high and unemployed persons may decide to take job offers more quickly.

Difficulty: M

Type: M



	
	January
	February

	Labor Force
	140,000
	142,000

	Employed
	130,000
	131,000

	Unemployed
	
	

	Unemployment Rate %
	
	


Table 7.3

14. Fill in the empty cells in the above table 7.3.

	
	January
	February

	Labor Force
	140,000
	142,000

	Employed
	130,000
	131,000

	Unemployed
	10,000
	11,000

	Unemployment Rate %
	7.1%
	7.7


Difficulty: E

Type: A



15. Explain how the unemployment rate can drop even if the total number of people with and without jobs remain constant.

People can become discouraged about finding jobs and stop looking for work. If they do they no longer count as part of the unemployed ranks nor are they part of the labor force. Since the unemployment rate is the ratio of those not working but actively seeking work divided by the labor force the unemployment rate can fall even if the number of people with or without jobs remain constant.

Difficulty: M

Type: D



16. Explain how it might be possible for the unemployment rate to decline even though the number of unemployed is growing.

This may be possible if the number of new entrants into the labor force is increasing at a greater rate than the number of people who are becoming unemployed. Since the unemployment rate is a ratio and the numerator is growing more slowly than the denominator then the unemployment rate will fall.

Difficulty: E

Type: C



17. With a population of 100 million, a labor force of 90 million and the unemployed measured at 9 million what is the rate of unemployment?

The unemployment rate is 9 million/(90 million) x 100% = 10%
Difficulty: E

Type: A



18. Classify the following people as either employed, unemployed, discouraged worker or not in the labor force:

1. A retired person

2. A full-time student who is not working

3. An individual who looked for work for six months and stopped looking five weeks ago

4. A law student who finishes law school, quits his job as a law clerk and has been actively seeking work as a lawyer.

1. This person is not in the labor force out of personal choice.

2. This person is not in the labor force because he is devoting his time as a student.

3. This person is not in the labor force because she or he is a discouraged worker and would not qualify as unemployed because he is no longer looking for work.

4. This person is classified as unemployed because he is actively seeking employment.

Difficulty: E

Type: C



19. Assume the number of people employed is 100,000 and the labor force is 500,000. Calculate the unemployment rate based on this information.
The unemployment rate is equal to 400,000/500,000 x 100% = 80%.

Difficulty: E

Type: A



20. In September there are 10,000 people unemployed and the labor force is 250,000. If the only thing that changed between September and October is that 2500 people stop looking for work what can we say is true about the unemployment rate in September and the unemployment rate in October?

In September the unemployment rate is 4% and in October the unemployment rate is 3.03%. This is true because the 2500 people who stop looking reduces both the number of people unemployed and reduces the number of people in the labor force.

Difficulty: E

Type: A



21. Assume a population of 3,000,000 people, 500,000 people employed and 1,500,000 in the labor force. Calculate the unemployment rate.

The number of unemployed persons = the labor force - employed. Therefore the unemployment rate = 1,000,000/1,500,000 x 100% = 67%

Difficulty: E

Type: A



22. Explain the major differences in the unemployment rate by demographic group.

Teenagers have higher unemployment rates than adults. African Americans have roughly twice the unemployment rates as their white cohorts. In addition, there are differences across industry. The construction industry tends to have a higher unemployment rate than the average while government, finance and durable goods manufacturing sectors tend to have lower unemployment rates than the national average.

Difficulty: M

Type: F




23. Define frictional unemployment.

This is the portion of unemployment that is due to the normal working of the labor market; used to denote short-run job/skill matching problems.

Difficulty: E

Type: D



24. Explain what structural unemployment is and give some examples.

Structural unemployment arises when skills of workers become obsolete and generally refers to longer-run adjustment problems that tend to last for years. Examples might include a welder who is put out of work because of the introduction of robotics on the assembly line or a receptionist who is displaced by a modern voice mail system.

Difficulty: E

Type: D



25. Classify the following as either employed, unemployed or not in the labor force.

	An individual who has been temporarily absent due to caring for an elderly relative whether they are paid or not.
	

	A  person 16 years old or older who works without pay for 15 or more hours per week in a family enterprise.
	

	Someone who works for pay in his or her own business.
	

	A woman who spends five hours a week sending bills to her husband's clients. She is not paid for her work. Otherwise she performs non-market work at home.
	

	A retired person
	

	A person who quits one job in favor of looking for work elsewhere but has yet to find work.
	


	An individual who has been temporarily absent due to caring for an elderly relative whether they are paid or not.
	Employed

	A  person 16 years old or older who works without pay for 15 or more hours per week in a family enterprise.
	Employed

	Someone who works for pay in his or her own business.
	Employed

	A woman who spends five hours a week sending bills to her husband's clients. She is not paid for her work. Otherwise she performs non-market work at home.
	Not in the labor force

	A retired person
	Not in the labor force

	A person who quits one job in favor of looking for work elsewhere but has yet to find work.
	Unemployed


Difficulty: M

Type: F



26. Explain what is meant by the discouraged worker effect?

It represent a decline in the measured unemployment rate that results when people who want to work but cannot find work stop looking for jobs and then drop out of the ranks of the unemployed and the labor force.

Difficulty: E

Type: F




27. List and explain the three major types of unemployment.

Frictional unemployment - caused by short-run job mismatch and is often voluntary. People are in search of better paying jobs. Structural unemployment - this is caused by the skills of workers suddenly becoming obsolete because of changes in technology or the structure of the economy. Cyclical unemployment - caused by the recessionary phase of the business cycle.

Difficulty: E

Type: F




28. What is the natural rate of unemployment and the current consensus estimate of economists?

The natural rate of unemployment is generally considered the to the sum of frictional and structural unemployment and is estimated to be approximately 4-6%.  
Difficulty: E

Type: F




29. What are the economic costs of unemployment?

Whenever resources are unemployed there is always some sort of waste. In the case of unemployment it manifests itself in the potential production of goods and services irretrievably lost. There are also other costs such as increased burdens to taxpayers to fund unemployment compensation programs and the individual cost in terms of a loss of self esteem and dignity.

Difficulty: E

Type: C



30. Compare and contrast cyclical unemployment and natural unemployment

Cyclical unemployment is the increase in unemployment that occurs during recession and depressions because the unemployed exceed the number of job vacancies. The natural rate of unemployment occurs as the normal functioning of the economy. It is often taken as the sum of frictional unemployment and structural unemployment.
Difficulty: E

Type: C
31. Why is unemployment bad for society? Why is it bad for the individual or household?

Unemployment is bad for society because it means that society does not get to enjoy the goods and services that would have been provided by those people who otherwise would have been working. It is bad for the individual or the household because in the meantime the individual and the household experience either a major reduction in income or no income at all. It can also be psychologically distressing for the individual and may lead to a loss of self esteem and self worth. It may even lead to mild or severe cases of depression for the individual if unemployment persists.  
Difficulty: E

Type: C



32. Identify the following events as either increasing or decreasing the natural rate of unemployment.

	Event
	Effect on the natural rate of unemployment

	If the labor market becomes more efficient so that the unemployed are more quickly matched with jobs.
	

	A permanent reduction in the number of middle management positions due to downsizing.
	


	Event
	Effect on the natural rate of unemployment

	If the labor market becomes more efficient so that the unemployed are more quickly matched with jobs.
	Decrease

	A permanent reduction in the number of middle management positions due to downsizing.
	Increase


Difficulty: E

Type: D



33. Identify the following as either associated or not associated with recessions.

	Event
	Associated with recessions

(Yes or No)

	decreased real output
	

	worsening of the nation's balance of payments
	

	loss of future output
	

	slow down the rate of inflation
	


	Event
	Associated with recessions

(Yes or No)

	decreased real output
	Yes

	worsening of the nation's balance of payments
	No

	loss of future output
	Yes

	slow down the rate of inflation
	Yes


Difficulty: E

Type: F




34. Discuss some possible benefits from recession.

Recessions may help to reduce inflation and some have argued that they may even increase efficiency by driving the least efficient firms in the economy out of business and forcing surviving firms to trim waste and manage their resources more efficiently.

Difficulty: M

Type: C



35. Discuss what is meant by the discouraged-worker effect. Also explain whether the existence of the discouraged-worker effect causes the official unemployment rate to understate or overstate the "true" level of unemployment. 

Individuals who stop searching for work are classified as out of the labor force. When these "discouraged" individuals stop searching, the size of the labor force decreases and, for a given level of employment, the unemployment rate will fall. The discouraged-worker effect, therefore, reduces the unemployment rate and causes the official unemployment to understate the "true" level of unemployment. 

Difficulty:M

Type: C
36. The unemployment rate can be categorized into three types. Explain what each of these types of unemployment is. 

Frictional unemployment refers to the unemployment that occurs as a result of the normal workings of the labor market. Cyclical unemployment refers to the unemployment that occurs as a result of changes in the business cycle. For example, when the economy enters a recession, firms will lay off workers causing an increase in cyclical unemployment. And finally, structural unemployment represents unemployment that is caused by long-term adjustment problems in the economy. 

Dificultyf:M

Type: D
37. Explain the differences between the unemployment rate and the labor-force participation rate. 

The unemployment rate is the percentage of the labor force that is unemployed where the labor force is equal to the number of employed individuals plus the number of unemployed individuals. The labor-force participation rate is simply the ratio of the labor force to the population (16 years old or over). 

Difficulty:M

Type: D
38. What is the difference between a recession and a depression? 

A recession is a period of at least two consecutive quarters of real GDP decline while a depression is a prolonged and deep recession. 

Difficulty: M

Type: C
39. Name three social consequences of recessions and depressions. 

The social consequences of recessions / depressions include economic hardship, anxiety, depression, deterioration of physical and mental health, drug abuse, and suicide. 

Dificulty: M

Type: C
40. Explain how labor productivity is measured. 

Labor productivity is measured by taking total output in the economy and dividing it by the total number of worker hours during the period. 

Difficulty: E

Type: D
41. What is the capital per worker tell us? 

It tells us how many or the value of the machines or tools each worker on average has to work with.  The more tools or machines the average worker works with the larger production in the economy.  

Difficulty: E

Type: D
42. You are an employee of the Bureau of Labor Statistics involved in the monthly survey of households used to estimate the unemployment rate. In each of the following cases,  classify the individual as employed,  unemployed,  or not in the labor force. Explain your classification.

(a)  During the entire week containing the 12th of the month, Rosie the Riveter misses work simply because she didn't feel like going in to work.

(b)  Jenny Wren is a volunteer 20 hours a week on a Rape Crisis telephone hotline.     She feels she makes an important contribution to society and would not accept a paid job if one were offered to her.

(c)  Cauley McCulkin is a hugely successful film star, age 12, who has earned over $5,000,000 each year for the past five years. Currently, Cauley is filming a new movie on location in Tenerife.

(d)  Maxwell Edison, a full-time Ph.D. student, is involved in ground-breaking research in fiber optics. His dissertation advisor has already claimed that Maxwell's work will revolutionize telecommunications.

(e)  Maggie Madd, 84, works 10 hours a week doing cleaning services for her son, Norman Neurotic. He pays her minimum wage. 

(a)  Rosie is employed. If Rosie is temporarily absent, with or without pay, she is considered employed.

(b)  Jenny is not in the labor force. She is not seeking a job nor does she meet the criteria required to be classified as employed.

(c)  Cauley is not in the labor force. He is less than 16 years old.

(d)  Maxwell is not in the labor force. He is a full-time student.

(e)  Maggie is paid and employed. 

Difficulty:M

Type: C
43. During a press conference, the Secretary of Employment notes that the unemployment rate is 7.0%. As a political opponent, how might you criticize this figure as an underestimate? In rebuttal, how might the Secretary argue that the reported rate is an overestimate of unemployment? 

The unemployment rate given by the secretary might be considered an underestimate because discouraged workers, who have given up the job search in frustration, are not counted as unemployed. In addition, full-time workers may have been forced to work part-time. In rebuttal, the secretary might note that a portion of the unemployed have voluntarily left their jobs. Most workers are unemployed only briefly and leave the ranks of the unemployed by gaining better jobs than they had previously held. 

Difficulty:M

Type: A
44. You are an employee of the Bureau of Labor Statistics involved in the monthly survey of households used to estimate the unemployment rate. In each of the following cases,  classify the individual as frictionally,  structurally,  or cyclically unemployed. Explain your classification.

(a)  There has been a general economic slow down. Because of weak demand, Andy Capp has lost his portering job at the docks.

(b)  Phil McCafferty, a newly qualified dental school graduate, is looking for a place to set up practice.

(c)  Coal miner Ned Ludd is thrown out of work by the introduction of a more mechanized production process.

(d)  Latosha Hogan, a computer programmer with a large bank, quit her job two months ago in search of a better-paid programming position. She is still looking. 

(a)  Andy is cyclically unemployed. He has lost his job as a result of he general economic recession.

(b)  Phil is frictionally unemployed. Job openings exist for him. It is merely a case of tracking down a position.

(c)  Ned is structurally unemployed. Unemployment due to technological change in an industry is classified as structural.

(d)  Latosha is frictionally unemployed. Job openings exist for her. 

Difficulty: M

Type: C
45. How do the costs of unemployment differ in an economy with a large underground sector relative to one with a small underground sector? 

The costs will be less in an economy with a large underground sector and output will be higher than officially recorded. Social costs such as low self-esteem, suicide, divorce rates, and so on will also be lower. 

Difficulty: D

Type: A
46. "If inflation is fully anticipated by all parties, the redistributional effects would be minimal. It's the fact that inflation surprises us that causes there to be winners and losers." Comment. Which costs still occur even with fully anticipated inflation? 

It is true that unanticipated inflation can cause income redistribution. Individuals on fixed incomes may suffer greatly, for example, whereas workers in powerful unions may thrive. However, some costs are borne by society in general, even when inflation is fully anticipated. Administrative costs, hoarding of real goods, additional search costs, and so on reduce the welfare of society in general. 

Dificulty: M

Type: A
47. For each of the following, indicate if the person would be classified as employed, unemployed, or not in the labor force (a) a 70-year-old man who left his job to help his daughter in her business for 10 hours a week, (b) a 20-year-old college student who is out of school for the summer    and is looking for a job, (c) a 30-year-old woman with a Ph.D. in history who has not been able to find a teaching position and is driving a cab 30 hours a week, and (d) a 40-year-old steel worker who isn't working and has given up    searching for a job. 

These individuals would be classified (a) not in the labor force, (b) unemployed, (c) employed, and (d) not in the labor force. 

Difficulty: M

Type: C
48. If the national unemployment rate is 7%, does every region in the country have a 7% unemployment rate? Explain. 

No. Different regions of the country could have unemployment rates either above or below 7%, depending on which sectors of the economy have been hardest hit by unemployment. 

Difficulty: E

Type: A
49. Explain why some economists argue that counting discouraged workers as unemployed gives a better picture of the unemployment situation. How would the magnitude of the unemployment rate change if discouraged workers were counted as unemployed? 

Some argue that discouraged workers should be included because they would take jobs if a job became available. If discouraged workers were included, the unemployment rate would increase. 

Difficulty: M

Type: A
50. Explain why some unemployment is inevitable. How can unemployment actually benefit the economy? 

Some unemployment is inevitable because people switch jobs or need to search for a job after finishing school. The structure of the economy is always changing, so some people will find that their skills have become outdated, and they no longer can find employment. Unemployment may benefit the economy if it leads to a better match between employee and employer. 

Difficulty: E

Type: A
51. Explain the three different types of unemployment. Give an example of each type. Given what you have learned about the different types of unemployment, suggest three policies that could be used to reduce unemployment, one for each type of unemployment. 

The three different types of unemployment are frictional, structural, and cyclical. Frictional unemployment results from the normal workings of the labor market. An example of frictional unemployment is an individual looking for his or her first job after graduating from college. Structural unemployment is due to changes in the economy. An example of structural unemployment is a steel worker in Pittsburgh that lost his job because the steel plant he worked at shut down. Cyclical unemployment is the unemployment that occurs during recessions and depressions. An example of cyclical unemployment is a construction worker who loses his job because the demand for new office buildings has fallen. A policy that may reduce frictional unemployment is increasing the efficiency of the labor market by having information networks that provide information on jobs all across the country so the unemployed can more easily find jobs. Structural unemployment may be reduced through job relocation assistance or job retraining. Cyclical unemployment could be reduced through expansionary monetary and fiscal policies. 

Difficulty: E

Type: D
52. Explain the costs of unemployment. Be sure to include both the economic and noneconomic costs. 

The costs of unemployment include the value of the output lost in the current time period and the value of the output lost in the future because unemployment leads to less investment. Unemployment also has social costs, including increases in the crime rate, the divorce rate, and the suicide rate. 

Difficulty: E

Type: C
53. Explain the possible benefits of recessions. 

Recessions will probably bring down the inflation rate. Recessions may also increase efficiency by forcing inefficient firms out of business. Recessions may also lead to an improvement in a nation's balance of payments 

Difficulty: E

Type: C
Inflation

54. Suppose state employees complain bitterly that they are not receiving substantial enough raises. In addition, lawmakers respond by saying they have nothing to complain about since they have been receiving 8% pay raises the past three years. What could account for the apparent disagreement?

The state employees are probably upset that their pay increases are only nominal increases. That is they may not be sufficient to cover the cost of inflation. Perhaps inflation is rising at a faster clip than their pay increases. This results in a decline in real income across time.

Difficulty: M

Type: A



55. Define inflation.

Inflation is an increase in the average price level in the economy across time. 

Difficulty: E

Type: D



56. What is the CPI or consumer price index?

It is an index computed each month by the Bureau of Labor Statistics using a bundle that is meant to represent the "market basket" purchased monthly by the typical urban consumer.  It is the ratio of the cost of that basket in any particular year to its cost in an arbitrarily chosen base year.

Difficulty: E

Type: D



57. What is the PPI or producer price index?

It measures prices that producers receive for products at all stages in the production process. 
Difficulty: E

Type: D



58. Provide an explanation for why the Consumer Price Index may somewhat overstate changes in the cost of living.

One problem is that it is a fixed-bundle index. It does not account for substitutions that consumers might make in response to relative price changes.

Difficulty: E

Type: C



59. Assume that the CPI for year 3 is 120 and the CPI for year 4 is 130. Compute the inflation rate for year 4.

The inflation rate = (130 - 120)/120 * 100% = 8.33%

Difficulty: E

Type: A



60. Suppose you want to earn a 7% rate of return on a one-year loan you are about to make and the expected inflation rate for the duration of the loan is 5%. How much interest should be charged? Secondly, suppose that your forecasts are 2% below the actual level. What would happen to your real rate of return? What if you overestimated inflation by 2%. 

You would need to assess an interest rate of 12% to earn 7%. The 5% is simply an inflation premium. However, if you underestimate inflation by 2% your real rate of return will only be 5% not 7%. Likewise, if you overestimate the inflation rate you will be in the happy circumstance of earning a 9% rate of return (12% - 3%).

Difficulty: E

Type: A



61. Below are different groups of people in society. Explain how each one of them would fair under unanticipated inflation.

Social Security recipient

Welfare beneficiary

Union worker

Landlord

Savers

Social Security recipient - they are neither made better off or worse off. Their benefits are indexed to the CPI.

Welfare beneficiary - they are made worse off because benefits are not tied to an inflation index.

Union worker - typically union workers have clauses in their contracts which automatically raise their wages with increases in the cost of living.

Landlord - usually writes one-year or multiple year leases therefore they are usually hurt by unanticipated inflation.

Savers - usually earn fixed interest rate on their accounts and are made worse off by unanticipated inflation.

Difficulty: M

Type: C



62. List the three main stages in the production process.

The three main stages are finished goods, intermediate materials and crude materials.

Difficulty: E

Type: F




63. Identify the following individuals as either "better off", "worse off" or "no different" from unanticipated inflation.

	Creditors who make variable interest rate mortgages that are tied to the Consumer Price Index
	

	Creditors who make fixed interest rate loans
	

	Homeowners who pay fixed interest rate mortgages
	

	Landlords who receive rent in multi-year contracts
	


	Creditors who make variable interest rate mortgages that are tied to the Consumer Price Index
	no different

	Creditors who make fixed interest rate loans
	worse off

	Homeowners who pay fixed interest rate mortgages
	better off

	Landlords who receive rent in multi-year contracts
	worse off


Difficulty: E

Type: C



64. What are the chief costs of inflation?

The actual costs are an arbitrary redistribution of income, administrative costs, inefficiencies, increased risk and slower economic growth.

Difficulty: E

Type: C



65. Many people like to reminisce about the good old days when movies were a quarter and the price of gasoline was twenty cents and bristle at $7 movie tickets and $1.50 gasoline. Why do economists argue that the increases in these prices today don't really mean anything in real terms?

The reason is that people's income increases during inflation. The wage rate is the price of labor, rent is the price of land, etc. During inflation, most prices - including input prices - tend to rise together, and input prices determine both the incomes of workers and the incomes of owners of capital and land.

Difficulty: E

Type: C



66. Discuss how inflation can redistributes income.

Inflation does not affect everyone equally. Some people who are on fixed incomes (e.g., like welfare beneficiaries whose payments are not indexed to the CPI or those who received payments under the AFDC program) are hurt much more than others. In addition, there is a redistribution of income away from creditors towards debtors. This happens because debtors pay back their loans in future dollars that are worth less. Creditors are earning a real rate of return which declines during the course of the loan if it is a fixed interest rate loan.

Difficulty: M

Type: C
67. What are the administrative costs and inefficiencies associated with inflation?

One is simply the cost of trying to keep up with inflation. Retail establishments may have to recalculate and re-post prices frequently and this takes time away from more productive uses. If inflation is rising very rapidly it may also cause people to make more frequent banking transactions. When interest rates rise as they often do during rising inflation this makes the opportunity costs of holding cash outside of banks accounts high. People may then find themselves making more stops at the bank.

Difficulty: M

Type: F




68. Suppose that you take out a loan at the bank for $1000 and are required to pay it back with interest of $100 at the end of the year. Suppose that there was no inflation at all when you took out the loan. By the end of the year the price level has increased 7%. Calculate both the nominal interest rate and the real interest rate on this simple loan arrangement.

The nominal interest rate is equal to $100/$1000 x 100% = 10%. The real interest rate is 10% - the 7% inflation which is 3%

Difficulty: E

Type: A



69. Why might inflation be considered costly to stop?

It might be costly to stop if the inflation is stopped by inducing a recession. You could say that the recession is the price to be paid for stopping inflation.

Difficulty: E

Type: C



70. How can inflation and recession both reduce future output?

A recession can reduce output in the future by reducing output in the present. Any goods that are foregone in the present due to idle resources (namely labor) are permanently lost. Inflation can reduce future output because firms base the current output decisions based on the future value of profit. If firms are operating in an inflationary environment this reduces the real value of future profits and may induce a firm to cut back on investment in factories and machinery. This cut back on investment in the present affects future output.

Difficulty: M

Type: C



71. Explain what the consumer price index (CPI) represents. 

The CPI measures the cost of a fixed bundle of goods and services. Each month prices are obtained for the goods and services included in the fixed basket. The CPI, therefore, measures the cost of this fixed basket of goods and services for typical urban consumers. 

Difficulty:E 

Type: D
72. Explain some of the costs associated with inflation. 

Inflation will cause a redistribution of income. For example, individuals who receive fixed nominal income will experience a reduction in real income when inflation rises. Inflation will also cause a redistribution of income between creditors and debtors. There can also be  administrative costs and inefficiencies caused by inflation. For example, firms may have to change prices more frequently. And finally, inflation might cause greater risk in the economy. With higher inflation, greater uncertainty may arise.  

Difficulty:M

 Type: C
73. Explain how an unanticipated increase in inflation would affect creditors and debtors. 

Creditors, on the one hand, are hurt by this because the unexpected rise in inflation will cause the real rate of return to fall. Debtors, on the other hand, benefit because the real interest rate on any loan, for example, will fall. 

Dificulty:E

Type: C
74. Recessions are believed to have some benefits for an economy. What might they be? 

There are two possible benefits. A recession might cause a reduction in inflation. As output falls and the unemployment rate rises, inflation will fall and, therefore, so will the costs associated with inflation. Second, recessions may increase efficiency as less-efficient firms are forced to close. Other firms will reduce waste and eliminate some inefficiencies as the recession occurs. 

Difficulty:M

Type: C
75. Lenders and borrowers expect the inflation rate to equal the actual inflation rate. The consumer price index is 110 in year 1 and 126.5 in year 2. If the interest rate charged by Richie Rich in year 2 is 40%, what is Rich's real interest rate? 

Rich's real interest rate is 25%. The inflation rate in year 2 is (change in CPI/initial CPI) × 100, or 15%. The real interest rate (25%) is the difference between the market interest rate (40%) and the expected inflation rate (15%). 

Difficulty: D

Type: A
76. The inflation rate measured by changes in the consumer price index is 5%. Does this mean that every individual's cost of living has increased by 5%? Explain. 

No. Everyone will not experience a 5% increase in the cost of living. It depends on the combination of goods and services consumers buy. If consumers spend a high percentage of their income on goods and services that have increased in price, then their cost of living may have risen by 5% or more. If consumers are able to substitute toward less-expensive goods or if they don't purchase goods whose prices increased, then their cost of living would increase by less than 5%. 

Difficulty: M

Type: C
77. If year 1 is the base year and the price index for year 2 is 105 and the price index for year 3 is 103, what is the inflation rate in years 2 and 3? Explain what has happened between years 1 and 2, years 2 and 3, and years 1 and 3 to the cost of living. 

The inflation rate in year 2 is 5%. The inflation rate in year 3 is -1.9%. The cost of living increased between years 1 and 2 and years 1 and 3, but decreased between years 2 and 3. 

Difficulty: M

Type: A
78. Explain the costs associated with unanticipated inflation and the costs associated with anticipated inflation. 

The costs associated with unanticipated inflation are: people's real income will fall if their income rises more slowly than the inflation rate; creditors are harmed, and the risk of investment rises. The costs of anticipated inflations are the administrative costs associated with keeping up with the increasing inflation rates, the costs of additional financial transactions, and the misallocation of resources that may result if people are not fully informed about price changes. 

Difficulty: M

Type: C
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